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QI

It i= used as foreign key (in this table) 3

... the primary key of the DOG table
to link the two tables

allows us to find the details of the Dog to which each
job relates [ do not need to re-enter dog details for

each job

Mot simply “to identify dog... but if they refer to the JOB
table, i.e. %o identify the dog that a job refers to® then this is
the same as the 4™ bullet

Q2

36, 37, 39 (correct answer only)

Q3

There is a date B

There is a title

Jobs are grouped/zorted appropnately (eg by dog,
time or job type)

Each job includes the Dog Hame

Each job includes the Dog 1D
Each Job includes the Job type

Each job includes details




Q4

. Coins{4) = 50
. Coins{10) =0
(correct answers only)

Q5

. The program is written to do something other than

what the programmer intended

Q6

It will only reset the first 9 elements / will not reset
the 10" element

After setting Coins(9) =0, i will become10...
... and the loop will stop

It should be UNTIL i = 10 ! or other working
comection




